SHEGEE LHAFTETE KT B NER
H | # I HTE K TRELOFE REERER PTARH{% BB
= 1~3%14:45
Fa8=(2) _
| K |giascen AF15:35 O
- 14#£15:05
BEAAL
2 AP 2~4415:55
A BE LR E (5-64) 5-6417:05 O
=
3 ﬁ %Iﬁﬁ I_Q.'\E
4 a2 HEYDH -
5 | B g )=
6 | A SR N =
F1EEFHEXRS 1~34£15:05
7 | N |[EL@E 5 64) 4%15:55 O
ifﬁ:;%’v%g)ﬁ#ﬁi@@ 15-63¢¢1174: %55
EES ~ :
8 | JK |EEmE(s-65) 4%15:35 TYIMAD B [PTAXESIR(19:00 REE) O
ALT R (F-RiI) 5-6417:05
HEERA L 14£15:05 ]
9 | K |[Er#E(5-6) 2~4%15:55 H2EPTARER (19:00 RBE) O
RI)—=IVHht5—Fk#13:00~17:00 5-6417:05
R ERRfRI5 TORELHE (5-64)10:00~12:00
L@ (5-6) 1-2415:05
10| £ SETEHHREEIRRENNS 3-4415:55 O
16:00 B=E . :
2 BEOEMWATHE  ALTEH (Fi) 5:6%17:05
11|
12| H
13| B |2rmmscor t#E (565 FHa ;;26211‘:3{%% RERE13:30 ®
N 1~3%15:05
o [BEE RS HT (2R _
14| K iz s -0 1555 O
REMINERE L RS (5-64) _ @)
15 | K [g-eﬂi:#%ﬁél 5?22155?80 5-64F x
_ 1415:05
16 | A |pEEafs 2~§ﬂ515:55 O
TEMMNERELEXRESFEB 1- zﬂg-] 5-05 O
17| & (5-64 ;% 4#5] '
& ALTER (4F18) 3~6415:55 5-64F x
18|
19| B
1:24E14:45
20| A 3~6415:30 O
21 | K |52 mimx l:gﬁlgfgg REE(EE) |PTARE-ExamAsa00.00 28 | O
937(1) 1~3%14:45 L
22 | IK |A T s e 4~65E15:35 | el SF) O
23 | A [BESAL 14£15:05 MEHRE (4~64F) O
A= NIt 5—%k#K13:00~17:00 2~6415:55 13:30
1:2415:05
24 | & 3~6%15:55 ? O
o 2k )
26 | H z i
1-2414:45 —s!,
21| A 3~6415:30 O
L 1~3415:05
28 | X 4~6415:55 O
EES(4) 1~3%14:45 | _ 2Z2itwid
29 | K |75 o 4~6%15:35 | TRHRE(2:5F) O
HELA L 14£15:05
30 | KN |z2paxesaaE00 2~6415:55 O
s g g 1-2415:05
31 | & |BSHBEALER-HEG~65)00 3~BfE15:55 O




